K B B #H =B
24 38 24 Kix [E [UR 6T
BIE ISR B5%l KR pH BRE | COD =]
(T (mm) | (mg/L)
1| KBM a5z 9:30 80 6 490 6|L
2| BE DM rro 937 55 6| 500+ B6|L
3|HESLDM Grso) 9:51 80 6| 500+ 2L
4|RETF 10.05 80 6| 500+ 5|L
S5|4ERBELDORE0O 1014 100 6| 500+ 1L
6
7
AES aR. Eh (&) . 58 &3
K B B #H =
24F 28 38 PN 2 Eygh [UR 5T
BIREIZPR iS4 KR pH BERE | COD ==
(C) (mm) | (me/L)
1| KBM a5z 9:30 6.0 6 480 8|L
2| BEDM Greo 9.40 20 6 172 18|H
3|HESLDM Grso) 10.00 40 6| 500+ 5L
4|FET 1011 50 6 500+ 2|L
S5|ERBELDOREO 10:20 100 6| 500+ 2L
6
e
AES  6R EP (B &8 (&) JEI
K B B A =B
24% 18 6d Kix N R 9T
BIREIZPA iS5 KR pH BRE | COD "3
(C) (mm) | (mg/L)
1| KB a5z 9:30 6.5 6 370 9lH 8< L
2 |BEDH creo) 940 30 6 500 2
3D SO Gt 9.51 50 6 500+ 6L
4|RETF 1002 6.0 6| 500+ 3|L
S5|*EEIDORE0 1015 95 5| 500+ O|L
6
7
=

A

B IOR EBP & 58 &E




K =] 53 =
23% 128 28 PN [UR 85 C
BIEZPT 1534 KR BEHE | COD ®Bs
(C) (mm) | (mg/L)
KRBt oraesszam 9:30 90 5 258 18|H (8<:D
BEDM Greo) 945 50 5 200 8
HESNDM Grko 10.02 70 5 500+ 2|L
FET 1013 80 6 500 8|L
FREEXDOREB0 10.22 120 6 500+ 2|L
T aR. BEP (& . 58 (&
K =] 53 £
23% 118 48 PN [UR 235 C
BIREZPR (534 KR BRE | COD wZE
(C) (mm) | (me/L)
REM cressz2am 9.30| 190 6 256 T\t
HEDM o) 945 150 6 368 18[H (8<:L
PEZSNDM Grbod 10.01 170 6 500 5|L
FET 1012 170 6 500 7L
FREEXDOREB0 10.26 170 6 500+ 1L
. aR B#h (& . 58
K B B =
23% 108 7H Kig SR 205 C
BIREZPT 1534 KR BRE | COD =
(C) (mm) | (mg/L)
RBith craesszam 9:30 180 6 284 7L
BEOM oro) 942 155 6 500 7L
D5 L\Di Grbo) 957 180 6 500 6L
RETR 1011 185 6 478 6|L
FREEXDORE0 10:26 190 6 500+ 4|L
T aR EP (& . 58 (&




K B8 B A =B
23% 98 24 Kix Evg [UR 31 C
RIE PN 1524 KR pH BRE | COD =]
(C) (mm) | (me/L)
1| KBM a5z 9.30| 300 6 270 17|HL >
2 |BEDM oo 933 270 6 500+ 7L
3|HEBLDM Geo) 945| 290 6 340 8|L
4|RIBEF 10:10| 300 6 500 15HL >
5|4EEIDDORE0 10:21 250 6| 500+ 7L
6
7
AES aR. Eh (&) . 58 &3
K B8 B A =
23F 882 48 PN 2 Eeg SR 32 C
BRI ZPA b5zl KR pH BERE | COD w3
(C) (mm) | (mg/L)
1| KBM a5z 9.30| 320 6 262 17H L >
2| BEDM o 042| 285 6 344 TIL
3| HEELDM Greo) 10.00| 290 6 306 75|L
4 |RBF 1013 300 6 416 7L
5|4EEIDDORE0 1027 270 6 446 3L
6
e
AES 6k EP (B . &8 (&)
K B8 B A =
23% 78 18 PN EVDD5F R 26 C
BRI ZPh 85l KB pH BRE | COD ®3
(C) (mm) | (mg/L)
1| KB a5z 930| 280 6 260 11 H L >8)
2| BEDM o 934| 260 6 460 7|L
3| HEBL\DM GFso Q45| 250 6 220 7|L
4|RIBEF 959| 250 6 278 7|L
5|#BEEIDORBE0 1012 240 7 500 4|L
6
7
I

A
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[FkE 9:00—1200 15mm




K B8 B &# =
23% 68 3 Riz Evg [UR 23 C
BIE ISR B5%l KR pH |ERE|COD =6
(© (mm) | me/L
1| KRBt w528 14.30 230 6| 228 18|H L : >8.>8
2 |BHEDM G 1502 172 7| 225 12|H L :>8
3PSV Greoy | 1517 225 6| 186 8HwL >
4|REBF 1533 225 6| 266 11H L >
S5|EEELDORE0 1544 200 6| 500+ 5L H: 3
6
7
AES Eh (B . 58 & . 5H
B Bk (F® 6828 875mm 6838 905mm
K B8 B &# =
23%F 5H 68 PN [FNn SUR 23 C
BIREIZPR iS4 KR pH |ERE|COD wE
(T (mm) | (me/L
1| KRB crasszam 9:30 220 6| 150| 75|t
2 |BEOM orbo) 941 200 6| 500| 75|t
3|HESLDM Grso) 952 200 6| 366 TIL
4 |RBT 1010 220 6| 246 17|H (L8»
S5|EREELDORE0 1025 19.0 6| 500+ 3|L
6
e
AES 6k EP (B . &8 (&)
=)
K B8 B &# =
23% 48 18 PN 2 Fn R 17 C
BIREIZPA iS5 KR pH |BRE|COD =
(C) (mm) | (me/D
1| KRB crasszam 9:30 16.0 6| 370 7|t
2 |BHEDHM G 953 125 6| 500 7L
3|h sV oy | 1007 150 6| 500 7L
4|RETF 1017 165 6| 500 4L
S5|£8ELIDORE0 10:31 150 6| 500+ 2|L
6
7
AES  BR. EP (&) . 58 &

=)




